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Go5-M2-Lesson 14

1. Solve,

a. Convert quarts to gallons.

28 quarts = 28 X (1 quart) , 1 . )
1 quart is equal to " gaflon. I'multiply 28 times

i .
=28x (Z galion) %gai!on to find 7 gallons is equal to 28 quarts.

= -%{-3- gallons

= 7 galions

b. Convert grams to kilograms.

5030g=75030x (1g)

1 gram is equal to 0.001 kilogram. | multiply 5,030
= 5,030 x (0.001 kg) times 0.001 kilogram to get 5.030 kilograms.

= 5.030 kg

2. After solving, write a statement to express each conversion.

a. Ajugof milk holds 16 cups. Convert 16 cups to pints.

16 cups =16 x (1 cup) 1 cup is equal to-%_pint. | multiply 16 times % pint to

=16 x (—231 pint) find that 8 pints is equal to 16 cups.

16,
= - pints
= 8 pints
16 cups is equpl 10 8 pints.

b. The length of a'table is 305 centimeters. What is its length in meters?

305 cm = 305 x (1 cm) 1 centimeter is equal to 0.01 meter. [ muitiply 305
=305 x (0.0 m) times 0.01 meter to get 3.05 meters.

=3.05m

The tabie’s length is 3. 05 meters.

EUMM tesson 14z Use fraction and decimal multiplication to express equivalent 25

M ATH" measurements.
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